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HoZEEOHIE (2)

Q. ROBENERIFEDNY FIVEBICHEZH?
3. i(R) D {f(z) € AR)|f(1) = f'(1) =0}
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4. P3(R) D {f(z) € A(R)|f(0) =0, f'(0) =1}
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T2x(=1)+3x14+1=2x1
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REDH:2x+3y4+2=0

—1 0 —1
x = 0O |,/ y=|—-1|€H,=>x+y=| —1| € Hy ... OK.
2 3 5

2X(-1)43%x(—-1)4+1x5=0

-1 -3
x=<0 ) =>3x—|—y=(0>€H2... OK.
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22X (=3)+3X0+4+1X6=0
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REDOHr:2x+3y+2=0

T o T3 221 +3Y1+21 =0
U1 |+ ('y2) = (’ys) = +) 22o43y>+2>, =0

21 ¥2) 23

2x3+3Ys+23 =0



REDH,: 22 +3y4+2=0

T o T3 221 +3Y1+21 =0
('yl> + ('y2) = (’ys) = +) 22o43y>+2>, =0

Z1 Z2 Z3

23 +3Ys+23 =0
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Q> QY ie. wi,wo € Hy = w1 +wy € Ho
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8. Wt ant1 = 2an + 1 ZHLITEHII2K

9. #tX ant2 = ant1 + an ZHLEITEIIZE
[0, 1] X LD LEDTHAIEEZEZS.
10. [0, 1] XM EDEfREF A

11. f(0) = f(1) Z=&E=IT B
12. B3 &I ARERGREHMERE
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